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ECONOMICS
( Major )
Paper : 3.1
( Elementary Mathematics for Economics )
Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese
- 1. Answer the following questions as directed :

1x10=
e Sepifd weto fra eppiyRa ©ed e 3

(a) Fill in the blanks : Vot lo=1
AR 3R 7T 0 :

(i) Every set is a of itself.

oifech e fied |
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(b)

(c)

(d)

(e)
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(2)

(i) The set of natural numbers less
than 1 is an example of ;

1 OF TF ARfed RIN S
J QO BH12I T |

Write True or False :
W7 ] SReE o

We can find the determinant of a
rectangular matrix.

RO (e afae R 3R <« 37 |

Write the transpose of matrix A :

A 3 FEERS Gae @3 :

3 5 6]
A iorol 1

What is a homogeneous function and
when is it said to be linear?

SR To GOl [ W W @ew R
I =2

State the product rule of differentiation.

S BF ASCoT fer |

A Continued )

1

(9)

(h)

()

0)
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(3)

If

y=6x"°+15
then find @
dx

I

y=6x2+15=

o8 Y fefg 41 |
dx

Find :
W A 4 ¢
1
—dx
J=
Write the subsets of the set
A={-10,2}.

A = {-1, 0, 2} 7ZfS9 TPz o |

Evaluate :

I+ ey 40
s i)
lim ————
x—3 x-3

Define rank of a matrix.

Ne4 rank I SR o3 |
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(4) | (5)

2. Answer the following questions : 2x5=10 (e)¥ 3Lk
wors il e T i - [
7
| ) | A=lls 1|andB=r ]
(a) Write the difference between diagonal I-S 6J S

matrix and identity (or unit) matrix.
then can you find B-A? Justify your

o G SE G Ceresd N2 fore | | SRR
2 0] g
(b) IfA={012, 3} and B={10,11, 12}, then I A =3 IIWBJ 1@,(@(@
find An B and show it by means of a |_5 6_| LS SJ

Venn diagram.
B-A fdas <R3 Rl TWA? ONR TSI

% A={0,12 3} WF B={10,11,12} =g, S S SHI[eer] |

@@ An B 6 391 S Ze 90 S .

3. Answer any four of the following questions :

AHS (&l | )
5x4=20
(c) Define ‘domain’ and fTange’ of a w=re {91 2P ) CRIC! BiiRee TS frat -
fRuctoss (@) Test whether the following matrix is
A singular or non-singular :
9B T Sifrca’ S ‘oI e fore | &
e faul CTECe] A G SR, AR
(d) Solve : Sl
- 4 5 8
STHIYE 91 : A=|2 0 4|
2x+5y =12 3 1 ]
5x-2y=1 (b) Distinguish between equation and

identity by giving examples.
A T Seowd TES A AN BRI
e TSl |
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(©)

(d

(e)

20A/63

(6)

Find the inverse of matrix A :
A RRis e g 990 ¢

4 0 1]
A=|3 2 1
(5 2]

Evaluate :
T e <47 -
Eﬂx2;2x+1mdx

Find

2 it y=Jee? +0°

ﬂﬁy=§j(5x2+7)8 2, W%Q 4 fAefy

F41 |

Find -@E and EE, if 2:=(2x3 -1)@y3 -1)
ox dy ;

2 o 92

W8T <R
z=0@2x° -1)@By” -1 A x 5

Sferear |

( Continued )

(i)

4. Answer the following questions :

o epPRd e fid
(@) (i) What is polynomial function?

T2 T 2

(i) When are two matrices said to be
equal?

1 (T GO ST JfeT Rl = 2
(iii) If

_[3 2] A F2i2
A'Ll 2| andB_L—l 3]

then prove that AB = BA.

(903 o919 991 F AB = BA.

(iv) Examine the continuity of the
function

f(x)zxg,whenx~<1
=2.5 when x =1
=x2 +2, when x>1

at the point x = i,

20A/63

10x4=40

2
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(8)

x=1 e woe fi wmom stz
*%ﬁ?@ﬂ:

f[x)=x2,ciﬂ%§ﬂxcl

=2.5, @feq x=1
:x2+2,C‘1ﬁ5‘.ﬂx>1
Or / J241
If
P D
A—LO 5 1} Bl =il
L e
[1 0]
and C=|0 1]
il
:;ove that (AB)C = A(BC). 10
1t -1 1 iRy
A-LO 5 lJ,,leo |
i S
[1 0]
e C=|0 1]
[t

COTZ 2919 41 @ (AB)C = A(BC).

.( Continued )

(9)

(b) (i) State and prove the quotient rule of

differentiation.

2+6=8

TAFEAA SlFE BE Afecol fEH e

FEIRRCEIR

(i) Given the marginal

revenue

function MR =30 -0, find the total

revenue function (TR).

o1 S F& MR =30 — Q T P W

o (TR) e 341 |

Or / H2§1

(i) Prove that

d ix x

—le =g

= )
291 €1 (A

d, x x

e =e

E('E?)

2

2’

(i) If z= X ~Y then find —gg an

x-y

2
bl z=x —Y 2y, 93 E?-
x-y2 ox

Tferaan |
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z
ay'
3+3=6

d

0z
dy

( Turn Over )



|
|
(oo ’ (akik
(c) Find the value of %Y . |
ev ueofdx. 5+5-10 ‘ Or / Sl
d * fs
ay 3 99 fefa 0 r () Find equilibrium national income (¥)
‘ and consumption (C) from the
A } following model : 3
(i) y=log (a+bx) | By
(i) y=(2+1-e* 'J[ Cea0imsgt
= 4 o
y 4 i' 1=100
Sodngl " oo SREBR o[ SR I8 S (V)
Find the value of the following : Bl lz o opgerst (C) Fefa 41 -
Se1S TGN T Fiefy 0 |’ Y=C+I
A C=50+0-8Y
) [ex? +vx+ %) ax ; I ~ 1=100
X |
" K (i) Find the slope of the line
(@ | dxdiEoie s { 5x +2y = 20. 2
@x +8%)° 5 5x +2y = 20 GCE O A4 11
| (i) Write a short note on static
input-output model. S
(d)  Solve (by using Cramer’s rule) : i : B M-S IR €S ol 5
‘ ' ¢or fora |

ST T (GRS e et ) l
i | * Kk %
4x-5y+6z=12
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